V1. Read thefollowing fable car efully, and then answer the questionsthat follow:
Parents have to do much less for their children nowadays than they used to do in the past.
Home has become much less of a workshop than it was, clothes can be bought ready-made,
washing can go to the laundry, food can be bought cooked, canned or preserved. Bread is
baked and delivered by the baker, milk arrives in bottles and meals can be had at the
restaurant, the worker’s canteen and the school dining room.

It is unusua in the present for father to pursue his trade or employment at home, and his
children rarely, if ever sees him at his place of work. Boys are therefore seldom trained to
follow their father’s occupation and in many towns they have a fairly wide choice of
employment and so do girls. The young wage-earner often earns good money and soon
acquires afeeling of economic independence.

The working mother is nowadays a not unusual factor in a child’s home life. The number of
married women in employment has more than doublediin the last twenty five years.
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61- Parents work/ed much less for their children
(el Gl ¢ palal) G AN ¢ Sl ) ey 8 JBI ¢ glany £ LY)

A. inthefuture
B. last century
C. at night

D. at present

62- Clothes can be bought ready- made
(ABall oda A« k) odac alall A &9,‘“‘\}\ aﬁl-@-i) _________ 3oala (gl (pudkall

A. last weekend
B. in the past

C. nowadays

D. at the moment

63- Children follow their father’s occupation nowadays.
(130 ¢ Ladla ¢ LS ¢ Bale) agdlyl il g ¢y oy LYY 038 . JLakaY)

A. Usually
B. often
C. Always
D. rarely



64- Nowadays, have the same choice of employment.
(s ¢ il g N Y1« il ¢ Y Y1) Al glly LAl (i 4

A. Boys

B. qgirls

C. boysand girls
D. fathers

65- The number of married women in employment increased in the last
¢ A gt A (gl ¢ A (g e g daad )L AT B ARl B cila g Sl plaadl) (ha daad) ) 3
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A. twenty five years
B. fifty years
B. sixty years
D. twenty five months

66- The underlined pronoun " it" line 2 refersto
(3R ¢ Jarall ¢ £ LYY ¢ daal) ), dors ¥ slacall 8 it " Jad Adald L) jredall

A. school

B. parents
C. workshop
D. home

67- Theword " " has the same meaning to " afather and a mother".
(el ¢ ALilad) ¢ e L¥) ¢ JUlY) " alg ol ) pudild dall)
A. children
B. parents
C. family
D. people
68- The most appropriate TOPIC for the passageis
(3 skial) Alibalhe £LY ¢ JUkY ¢ Aayall) 3Lad) ) .. 94 dakall) 28 A TOPIC aibia Jis|

A. Old life

B. Children

C. Parents

D. Modern family

69- How can clothes be washed nowadays?
(k) a5 ¢ Aadldl) A e ¢ Alodiall il 5y ¢ 338k Ao lia ) Sal) 038 (ueidlall Jud i

A. Ready made

B. By the laundry

C. Through the servant

D. By the children

70. The underlined word " they" Line 8 refersto
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A. boys
B. girls
C. mothers
D. parents



